For owner’s manual and technical information MeCha N IC REfe Fence
vistt Installation Manual

Knowledge.Catrike.com
"( ;

CATRIKE

Orlando, Florida

BC1407 REV12.24.9



Table of Contents

Headset Assembly ....viiiiiiiiiii i s e
Folding Kickstand Assembly........ccooiiiiiiiiiii
Dumont & RoadAR Rear Swingarm Assembly ...,
Dumont Floating Idler Pulley Assembly ...........ooiiiiiiiiiinnnns
Dumont and RoadAR Spindle Assembly ......ccciiiiiiiiiiiiiiniennes,
Dumont & RoadAR Cellasto Information & Installation ..............
Rear Parking Brake Assembly ...,

Thru-Axle Rear Derailleur Assembly....ccovviviiiiiiiiiiiiiiiiieeeenns

REAR PARKING BRAKE ASSEMBLY
700

M6x18mm BRAKE
MOUNTING BOLT

FOR ADJUSTMENT OF REAR
M6x18mm BRAKE MOUNTING BOLT BRAKE GO TO
TORQUE 5-7Nm (40-60in-1b) WWW.SRAM.COM/SERVICE

THRU-AXLE REAR DERAILLEUR ASSEMBLY
5.5.9, 700, Eola, Expedition & Dumont

DERAILLEUR HANGER
GREASE THREADS

DERAILLEUR HANGER NUT
TORQUE 17Nm (150 in-lb)



DUMONT & ROADar SPINDLE ASSEMBLY
LEFT SPINDLE SHOWN

PARTNUMBER  |QTY

SPINDLE AXLE BODY L
CELLASTO

SPINDLE BODY L
[SPINDLE LOW ER LINK L
[SPINDLE UPPER LINK L
6800 17X10X5mm BALL
BEARING

[SPINDLE BEARING
SPACER

M&X10mm BHCS
Bmm NORGLIDE
BUSHING

M8 JAM NUT

10mm BINDER BOLT
M8 BOLT

ISHOCK ABSORBER
M& W ASHER
BmmX2?2mm BARREL

NG Y ) ) Y

—lw|=|=|=|=| o |w| v

DUMONT & ROADAR CELLASTO INFORMATION & INSTALLATION

45D CELLASTO 55D CELLASTO
RIDER WEIGHT BELOW 160LBS RIDER WEIGHT ABOVE 160LBS
INCLUDED IN DEALER PACKAGE PREINSTALLED AT FACTORY

. ey T

STEP 3
REPLACE CELLASTO &
REASSEMBLE SPINDLE
12mm GAP
STEP 2

REMOVE CENTER LINK
HARDWARE

MEDIUM
THREADLOCKER
TORQUE 5Nm

(40 in-Ib)

STEP 1
LOOSEN JAM NUT AND ‘.,
BUMPER TO REMOVE TIGHTEN BUMPER AND JAM NUT~ A= El

SPINDLE PRE-COMPRESSION  TO PRE-COMPRESS SPINDLE THREADLOCKER TO JAM NUT

~ FOR PRE-COMPRESSION

HEADSET ASSEMBLY

ALL MODELS
M6 BOLT
TOP CAP
DUST COVER
\\
HEADSET SPACER
PTFE BEARING
cup
PRE-INSTALLED HEADTUBE

\

BEARING%

1" STAR NUT
PRE-INSTALLED

SPINDLE

PRESSED CROWN RACE
PRE-INSTALLED



FOLDING KICKSTAND ASSEMBLY
5.5.9, DUMONT, & TRAIL

INSERT M6 NUT INTO OPENING
M6 NUT CAPTURED IN OPENING,
NO WRENCH NEEDED

BUMPER FACES FRONT OF TRIKE—

KICKSTAND
ASSEMBLY

DUMONT & ROADAR REAR SWINGARM ASSEMBLY

. M2
25mm PIVOT AXLE NUT 0N ﬁ@&!/ 4:(%
© /(,, ‘/ \\\

GREASE THREADS
i 25mm PIVOT
@ 7 AXLE BODY

@(O \ STEP 2

e

) !(“((\'\’/
TORQUE 17Nm (150 m-lb),f
h_@ //\(d’{ (5

&

!(‘ -~ Hn

‘ RIGHT SIDE SHOWN
— —M8X16
~ y"‘ THREADED
‘ i : | BARREL
{] h
'I'I' !" U] step3
Y 4 )
‘ L] 7. —8MM NORGLIDE
\ (" searine

P M6X10 BHCS = 8MM

SUSPENSION YOKE—
SPACER \{ LH MEDIUM THREADLOCKER NORGLIDE
TORQUE 5Nm (40 in-Ib) WASHER

DUMONT FLOATING IDLER PULLEY ASSEMBLY

~——FLOATING PULLEY MOUNT

23T PULLEY
PULLEY SPACER

REAR DERAILLEUR CABLE

M6X80 BOLT
MEDIUM THREADLOCKER
TORQUE 5Nm (40 in-lb)



